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First Year
ENGLISH PAPER —1

MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

Read the following passage and answer the questions that follow.

Naval architects never claim that a ship in unsinkable, but the sinking of the
passenger-and-car ferry Estonia in the Baltic, surely should have never
happened. It was well designed and carefully maintained. It carried the
proper number of lifeboats. It had been thoroughly inspected the day of its
fatal voyage. Yet hours later, the Estonia rolled over and sank in a cold,
stormy night. Of those who managed to scramble overboard, only 139
survived. The rest died of hypothermia before the rescuers could get them.
The final death toll amounted to 912 souls.

(1) Where did the ferry sink?

(11) Why should the accident never have happened?

(11) What was the effect of the accident?

(iv) What was the passenger-and-care ferry called?

(v)  Give the synonym for, ‘fatal’.

Read the following passage and answer by choosing the right option :

Erosion of America’s farmland by wind and water has been a problem since
settlers first put the prairies and grassland under the plow in the 19tk
century. By the 1930’s, more than 282 million acres of farmland were
damaged by erosion. After 40 years of conservation efforts, soil erosion has
accelerated due to new demands placed on the land by heavy crop production.
In the years ahead, soil erosion and the pollution problems it causes are
likely to replace petroleum scarcity as the nation’s most critical natural
resource problem.

(1) As we understand from reading, soil erosion in America
(1) causes humans to place more demands on land
(2) 1s worse than it was in the 19th century
(3) happens so slowly that it is hardly noticed
(4) 1s the most critical problem that the nation faces
(1) Erosion of Farmland’s happens by
(1) Putting it under the plow
(2) Pollution
(3) Wind and water

(4) Placing new demands on the land



2. (a)

(b)

©

(d)

(111) The author points out in the passage that erosion in America
(1) has become severe and forced people to abandon their settlements
(2) occurs only in areas with no vegetation
(3) can become a more serious problem in the future
(4) was on the decline before 1930’s
(iv) The antonym for “accelerate” is
(1) Rapid
(2) Slow down
(3) Stagnant
(4) Stop
(v) It is pointed out in reading that in America
(1) petroleum is causing heavy soil erosion and pollution problems
(2) there are many ways to reduce erosion
(3) water is undoubtedly the largest cause of erosion

(4) soil erosion has been hastened due to overuse of farming lands.

Correct the following sentences :

(1) The small child does whatever his father was done

(11) The man to who I sold my house was a cheat

(111) Where is the shoes?

(iv) A laptop was very sophisticated and costly

(v) They were all shocked at his failure in the competition.
Rewrite as directed :

(1) They left for the airport. (Add a question tag)

(11) Jaya ordered the food. (Change the voice)

(1) He said, I did not lie. (Change into indirect speech)

(iv) Inspite of his hard work, the body didn't succeed. (Change into
compound sentence)

(v)  Susan will help you solve the problem. (Change into negative sentence)
Change into direct speech :

(1 Raju told me he was going to the barber

(1) Preethi asked me to pass the salt

Fill in the blanks with correct form of verbs given in the brackets :

(1) He wants Mary ————— (do) the dishes.
(11) Would you mind ——— (open) the window, please?
(1) He usually —————— (do) his homework in his room.

(iv) Let me ————— (leave) the classroom please.



(v) John ——— (watch) TV every night.
(e) Fill in the blanks with suitable words given in the end.

(1) She ——— the job offer.

(11) The dog ran ———— the yard.

(111) He ————— about his mistake in that test.

(iv) She ————— and walked away.

(v) John ——— his friends for a while and then went home.

(velled, visited, accepted, thought, across)
(  Rewrite the following set of jumbled sentences to make a coherent passage.
(1) He could have practiced law and spent a comfortable life.
(11) He was born on 224 October, 1869
(1) He choose to fight the British, for independence.

(iv) Mohandas Karam Chand Gandhi, popularly known as Mahatma
Gandhi.

(v) He was a lawyer by profession.

(g) Write three exchanges of dialogue between a person who wants to book a
reservation at a hotel and the receptionist there.

(h) Write a paragraph using the following hints.

Good for young and old — refresh mind — makes us smart and active — light
exercise — see nature — birds fly — flowers bloom — ponds — canals — full of
water — running water — sweet music — regular walk — enjoy most.

(1)  Write in about 100 words on any ONE of the following.
(1) The effects of peer pressure.
(11) The downside of smart phones.

(1) Growing number of people shopping online.

3. Write an essay on following :
(a) Justify the little, “A sense of the Future”.
(b) Bring out the humour in George Bernard Shaw’s, “Dilly at the Dentists”.
(¢) Summarize the story of “The Topaz Cufflinks Mystery”.
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1. Write short notes on the following :

(a)

Rose”.
(b)
(©
(d)
©)

Write about the comparison of the rose to the lady in the poem “Go Lovely

What is the central theme of “On killing a Tree”?
Summarize the poem, “The Express”.
How is the importance of nature brought out in the poem, “T'ables Turned”?

Justify the title, “Laugh and Be Merry”.

2. Write an essay on the following :

(a)
(b)
()

3. (a)

(b)

Explain the irony in Karel Capale’s, “The Fortune Teller”.
Bring out the appropriateness of the title, “God sees the Truth but waits”.
How is Srijut the victim in “The Gold Watch”?

Explain the following :

(1 Yes I did, but that “be in London. She is going to stay with me, and
then live with the same family”.

(1) You ask, what is our aim? I can answer in one word. It is victory.

(1) ‘T've seen wild cats in trees at night and their eyes shine’.

Explain the following :

(1 Up!Up! My friend and clear your looks why all this toil and trouble.

(1) Allis, if T have grace to use it so. An ever in my hard task Master’s eye.
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1. (a) Write the significance of the Ramayana in 10 lines.
IARIVRITAARVHATEIpeY G2T aTaTiol forsrd ?
(b) Explain the qualities of scholars as described by Noble Vidura.

Rigefel sfrTdienfar afoda steronar Rigoya 2

2.  (a) Write the words uttered by celestial bachelor with Parvathi who was
performing Penance.

AgeTRed] arddt ufdr i aaenfer forzra 2

(b) Explain the help rendered by Rajavahana to Brahmin.
TG (&GSl (A21Gad ?
3. (a) Describe the six seasons as prescribed in the lesson.

UTGIHTSHORICY YEe] Jurad 2

(b) Write the story of intelligent Rabbit.

HRIGR212IS: 3l BT ferzrd 2
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1.  Answer the following with reference to context.

o IR |

(a) T GRATCHIN HISTIoG T |

(b)  sTepIofta Toga: |

(© forfegarfer o Aad

@) T e etz T

(e) oRRATE JEHATERH|

(f)  TFIr: Bt 1§ Yeleiaa faerd |

(@) 3T Profol GIPADCH! TATHI

(h)  govg {3 Jrofret: 7wl
2. Translate into English or Telugu.

STCEITSTRAT AT JTFTHTSII aT 3efdTed |

(@) 3T Pxd 1 ot @fe fBafxT T
BH TRHA G AATGHAGITIH |

(b)  JATcHeN IS eAteafiafian|
AR AP e eicdd ||

) fordaa werdfer fatfecarfer of Jad |
3TTTRTab: STgGeITeT U USAT&To | |

(d) TS ARYITET ATe: FdBHOTH|



(a)

(b)

()

(d)

SIS HSITON 5R: Ufved SeId ||

Write the forms of in the other numbers of given persons :

TR ETq F/TToT forzra|

(@)  oaf (i) oI
(iii) forsgey (v) g
(v) @ (vi) 3mGa
(vii) dogd (viii) 31|
Decline as per the case ending.
TATGHITRY 2TeGRITIOT ferard|

Q) I (i) @
(iii) el Gv) foaf
(v) ordl (vi) AR
(vii) Afar: (viii) oT&|

Combine Sandhis.
Ao |

(i) Y+ IE
(i) ©Tq + 3T
(v) ddq+d

(vii) §C + 7T
Dissolve.

faergaraenfer forzral
G)  TcIeH
(i) 3[cTafer:

(v) 3rept:

(vil) JDYSITE:

(i) g + 3I&:
(v) al+ 3/
(vi) T + et
(viii) 3 + 3Fect: |

(i) Ydem:
(iv) TR
(vi) ~stelicTe
(viii) TLOTH
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PROGRAMMING USING C LANGUAGE (IT)
MAXIMUM MARKS : 30

ANSWER ALL QUESTIONS

What is datatype? Write about primitive and derived datatypes in C-language.

(a) Write a C-program using relational operation.

(b) Explain about arithmetic expressions and logical operations.
Write a C-program to sort ‘n’ numbers.
What are branching statements? Explain with syntax and examples.

What are the concepts associated with functions?
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PROGRAMMING USING C LANGUAGE (IT)
MAXIMUM MARKS : 30

ANSWER ALL QUESTIONS

Write a C-program for matrix multiplication.
Define a pointer. Explain about pointers to pointers.
How can you access structure members? Explain with program.
What are File Handling Functions?

What are the operations on a “UNION”?
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ANSWER ALL QUESTIONS

What is a logic gate? Explain various logic gates with symbol tables and examples.

Logic gate edre d0? 3G S8dwe logic gate @0 o°¢3 symbol tables 08a5w

STTE08" 9580908,

Explain about combinational circuits.

Combinational circuit © 7°8) IDHBoHoG.

Explain about various micro operations with examples.

Micro operations &m*rSee8’ 9980908,

Explain various addressing modes.

DG BE20e addressing modes K08y DHBovod:.

Explain about Data Transfer and Manipulation.

Data Transfer 208a%0 Manipulation £5°8) JHBoRok.
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ANSWER ALL QUESTIONS

Explain about floating point arithmetic operations.

Floating point arithmetic operations X5°8Y IHBoVos.

Explain about auxiliary memory and cache memory.

Auxiliary memory 08030 cache memory /5°8) dH5BoVo.

Explain about input-output interface.

Input-output interface {0 9H8oDok.

Explain about Binary Counters.

Binary Counters %8y d80%0¢.

Explain about various multiplexers.

DG BE00 multiplexers K8y HGBodod.
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Define Data Structure. What are the different types of Data structure?
G @gl)csom EéloiNleintole DA BED0BD

“ (
Geo B5H50e0 22?
What is circular linked list? Write an algorithm to implement circular linked list.
K)8b§®5 o8& @K}egoo edmeHd? Circular linked list ®o implement DosnesH
ERBENIR FAH0G.

What are different types of queues? Write an algorithm to add an element to
queue.

DAY BEH0PD Queue © ID? Queue 8 element D add DOV WEPBEHON
[@rood.

How can you allocate memory to arrays? Explain about sparse matrix.

Array 9% 5305°8080 Je allocate De80? Sparse matrix 809 2580%0é.

Write about pointers and recursion? Give examples for each one.

Pointer e 508050 850 809 [@°af0é. 98 28,6700 HB80Y GI™rdeson angod.
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What is balanced tree? Explain in detail.

Balanced tree 9 3207 IO ddBowos.

What is binary tree? Give an examples for linked representation of Binary trees.

@_?68 tree e9:dre D07 Binary tree ©X0 Je» represent 3@_:5)"’ GBSO AI06E?

What is selection sort? Explain with program.

Selection sort &5 30? Program &° 9580%08&.

What are control structures? Explain with syntaxes.

EoeSeo S5 ed DA0? Syntax 08&° 9980v0&.

What do you mean by merge sort? How it occurs? Explain with program.

Merge sort €908&3 eagfmme%? A8 Jo° &oe0&’ program &° 99580508




(a)
(b)

(a)

(b)
(a)
(b)

(a)
(b)
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DISCRETE MATHEMATICS (IT)
MAXIMUM MARKS : 30

ANSWER ALL QUESTIONS

State and prove De morgan’s laws.

In a survey of 60 people, it was found that 25 read news week magazine, 26
read time, 26 read fortune, 9 read both news week and fortune, 11 read both
news week and time, 8 read both time and fortune, 3 read all three
magazines.

(1) Find the number of people who read atleast one of the three magazines.

(1) Fill in the correct number of people in each of the eight region of the
venn diagram where N, T and F denote the set of people who read news
week, time and fortune resptly

(1) Find the number of people who read exactly one magazine.

Verify that the proposition pv |[(p Aq) is tautology and define tautology
also.

Show that the propositions | (P A q) and |pv |q are logically equivalent.
Prove that (167 ) = (156 )+ (15 )

Find the number m of ways that nine toys can be divided between four
children if the youngest child is to receive three toys and each of the others
two toys.

Prove that the sum of the degrees of the vertices of a graph G is equal to
twice the number of edges in G.

State and prove Euler theoremie V-E+R=2.



(a)

(b)

(a)
(b)

(a)

(b)
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ANSWER ALL QUESTIONS

Draw all possible non similar trees T where.
(1) Tis abinary tree with three nodes
(1) T is a 2—tree with four external nodes

Suppose the following list of letters is inserted into as empty binary search
tree.

J7 R7 D7 G7 W7 E7 M7 H7 P7 A7 F7 Q
(1)  Find the final tree T

(1) Find the inorder transversal of T

Explain the algorithm inserting and deleting in a binary search tree.

Explain the inserting into a heap and deleting the root from a heap ie
algorithm

The following are equivalent in a Boolean algebra
o @ a+b=b
@) ax*b=a
3) al+b=1
4  axbl=0
(1) Express each Boolean expression E(x,y,z) as a sum of products
(@) E=x(xy' +x'y+ y'2)
()] E:Z(x1 +y)+y1
Let E =xy+ y't + x'yz' + xy'zt' find
(1) Prime implicants of £

(1) Minimal sum for £




